1. The base of a solid is the region enclosed by a circle centered af
volume of the solid if all cross sections perpendicular to the x-
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Volumes of Solids of Known Cross Sections
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the origin with a radius of 5 inches. Find the
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2. The base of a solid is the circle centered at the origin with a ra:1]1us of 3 inches. Find the volume of the solid

if all cross sections perpendicular to the x-axis are equilateral tri
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3. A mathematician has a paperweight made so that its base is the
one arch of the curve y =2sinx . Each cross-section perpendi

diameter runs from the x-axis to the curve. Find the volume of
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shape of the region between the x-axis and
cular to the x-axis is a semicircle whose
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4. The base of a solid is the region in the first quadrant bounded b
Cross sections perpendicular to the x=axis are isosceles right tri
the volume of the solid?
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5. The base of a solid is the elhptlcal region with boundary curve
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to the x-axis are isosceles right triangles with hypotenuse in th¢

y the graph of y =3x
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iangles, with one leg in the Xy- plane What is
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9x” +4y” =36. Cross sections perpendicular
base. Find the volume of the solid.
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6. The base of a solid is a region bounded by the curves y = x” an
x-axis are semicircles. Find the volume of the solid. - %,‘9&“
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7. The base of a solid is the region bounded by x* =16y and y=2.
are rectangles whose height is twice that of the side in the xy-plane.
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Cross sections perpendicular to the x-axis

Find the volume of the solid. \3 = x’*
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